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Multiple Choice
I dentify the choice that best completes the statement or answers the question.

1. Inthe circular flow model, for every flafgoods, services, and resources there is a aoflone of
a. more goods, services, and resources.
b. people from firms to households.
c. people from households to firms.
d. money.

In producing a sweater, a man who sheaepsbays a farmer €4 for a sheep’s wool. The stgatiop
sells the wool to a knitting mill for €7. The kmity mill buys the wool and makes it into a fineriakand
sells it to a sweater-making firm for €13. The sigeanaking firm sells the sweater to a clothingstor
€20, and the clothing store sells the sweaterwgdipped, for €50. What is the contribution to G&iP
the previous sales transactions?

n

a. €4

b. €44
c. €50
d. €94

3. Which of the following would be counteddrance’s GDP?
a. The purchase of an historic chateau
b. The purchase of a haircut
c. The purchase of a €1,000 government savings bond
d. The value generated when Pierre washes his ¢as garden

4. If private investment increased by €50dsilwhile GDP remained the same, which of the feifg
could have occurred, all else being the same?
a. Consumption spending decreased by €50 billion.
b. Exports increased by €50 billion.
c. Imports decreased by €50 billion.
d. Net exports increased by €50 billion.

5. Assume net exports are €-220, consumii€b,000, tax revenues are €1,000, government aseshare
€1,500, and 2005 GDP, calculated by the expenditajpgroach, is €8,000. We can conclude that
a. private investment was €1,940.
b. public investment was €310.
c. private investment was €320.
d. private investment was €1,720.

6. Real GDP is nominal GDP

plus depreciation.

adjusted for changes in the price level.
minus depreciation.

minus taxes.
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7. Which of the following would be most likety cause GDP to overstate the actual output pextiirca
year?
a. increased production in the underground economy
b. adecline in the quality of goods and serviceslpced
c. increased production for home use (non-marketyrton)
d. adecline in population

8. Suppose that population grows by 2 per. éamtthe standard of living to rise, which of foeowing
must occur?
a. Nominal GDP must grow by more than 2 per cent.
b. Real GDP must grow by more than 2 per cent.
c. Real GDP per capita must grow by more than Zest.
d. consumption spending must grow by more than Zeet.

9. During recessions, GDP falls and unemploynmereases. Why might the actual output producsd

fall as much as officially measured GDP during@ession?

a. Thereis an increase in involuntary part-time legrpent, the output from which is not
accounted for in GDP.

b. Workers who became unemployed during the recessay produce goods in the
underground economy.

c. Unemployment benefits to laid-off workers willals them to purchase nearly as much
output as before.

d. Laid off workers may start their own businesbes profit income from self-employment
is not accounted for in GDP.

10. Which of the following is a problem witretmeasurement of GDP?
Transfer payments are not included.

Production in the underground economy is not taxlin
Non-market production is not counted.

Both b and c are correct.
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Answer Section

MULTIPLE CHOICE

1. ANS: D
money.

PTS: 1
2. ANS: C
€50

PTS: 1
3. ANS: B
The purchase of a haircut

PTS: 1
4. ANS: A
Consumption spending decreased by €50 billion.

PTS: 1
5. ANS: D
private investment was €1,720.

PTS: 1
6. ANS: B
adjusted for changes in the price level.

PTS: 1
7. ANS: B
a decline in the quality of goods and services pced

PTS: 1
8. ANS: B
Real GDP must grow by more than 2 per cent.

PTS: 1

9. ANS: B
Workers who became unemployed during the recessanproduce goods in the underground economy.

PTS: 1
10. ANS: D
Both b and c are correct.

PTS: 1



